i
| AERE S TR LR T & LT

¥R B kA

RS T SIS FNTEEY

%%rﬁ?n%&m&%%km%%%
RETEIE AR BE B BRY

z;rgz. R Ft_‘gﬂ;lgﬂ/;; .

‘T'9541F'&'/ ‘”"T*' ﬁ?vm&?

"GH-E
©

..J;
'ﬁ"\ﬁ\«

)

N
ﬁ+~3 SO TR E R L FEY R
EREETFERE AR L1TA G2

W1T-23.5- 7 g 2722 21 E

TG Ed 4 <604 5 B E iZdg - 60-
804 5 ¢ Rik#Efr>804 5 R ikif I
R RIbn SRR B AR
S4m 5 R -~ 15-184 5 ikt

Wir=194 £ 4 4 -

> G AR O4E {r95E B LA &
sva&vﬁLi& » R 13X %ﬁp;“aé‘:
ENFEDBL o AT ST LR Y
?plzp F%00# ToE 5 23.843.6 0 W

BB 2 28ty A LR - A HKG6

If_’*g%—iwm’\r“ﬁié?zélfi

(54.0% ) = < &% 1 94& L350
96.449.6 > HBE S 100RSTIER BRI I =
£y 20 IR Y Sud m95ﬁli”r§_m
95.3412.8 » ®fcim 5100~ A #5253 H
P mEFA KA R4 hE L L0681

(97 1/[))’”7“?'77"{[;],111:

(1.4% ) e fE R 95& LE
71+75’W§{|E 204 BT ﬁﬁ’
Bl ~ A s 121 i )’*‘fﬁ“—"ﬁim
591 (86.8%) o J5d L ik ¥l
170 BdFE ‘H?ﬂ}z‘ €4 ﬁj‘k’%%ﬁg\@iﬂ
Higd+ P TFEFPS gk

H 4o USASTE R B E o AT LR A
ek % % HET T EHE T ROM G o p <
0.0 FMH AR - SSkriadd Fib
A r04.5% H¢ %’%\#‘Qh'ﬁ;iéf)él 0% >
KPP ERAR A fog 2R E B FH
I"‘I"} O-ﬁ-ﬁ ’ /n%ﬁ'vi'll'g%’l‘lp Lb‘ﬁ‘ft’
S s L LR = e
v 86.8% > H ¥ g &k 4FiE54 0% S
PAPERE AR o FERE R F AR
M -
- FEEFRITTREE

95
Tiag 23. 843. 6(n=73)
W\g( 28(n:73)

Y& A4 ATk 341 (54.0 % )
% = :""—"\‘E‘_%

94 95

96. 4+9. 6 95.3+12.8
Lo (n=73) (n=73)
Hdc 100(n=54) 100(n=53)
(78 2 70 69

A e i (95.9 % ) (94.6 % )

2z iR RY

95#
T 7.14£7.5(n=73)
B i 0(n=12)

TRk A v ik 591 (86.8%)

S
He 3

g T
90~



